HEBUEACESZTRESR

ETSHE—HF (BT +=%5ENIERR)
EANENEEEEETES
(B) 314818 () H#1243A31H
(841 : A)
BENE LEERB(A) B RE(B) IER(A)-(B)
NIRRT 418,047, 775 354, 631, 184 63, 416, 591
ENBUBRINGS 0 0 0
SR RN 0 0 0
REBHINZ 0 0 0
| EE s 0 0 0
BT -CAZ BRI 0 0 0
| T e s 0 0 0
|| |EEEs 0 0 0
| |EEEEs 0 0 0
ZORIDURZS 62, 860 7,480 55, 380
A [p-tzEsmpasst (1) 418, 110, 635 354, 638, 664 63,471, 971
=ININE 272,212, 761 226, 503, 125 45,709, 636
Bh| |mxem 70, 564, 393 63, 403, 425 7,160, 968
m |E=EE 20, 833, 227 25,142, 403 4,309,176
Wl |[E=EEzem 0 0 0
ol . [EEBZER 0 0 0
| B|FIRE aiesHaa 155,719 155, 416 303
= R e A B 31, 865, 165 31,133,380 731,785
BRSBTS EEEE -4,727,814 -4,727,814 0
BURAAERE 0 700 -700
BUNTREER | DR 0 341, 400 -341, 400
ZOMDER 0 0 0
Y- EENERET (2) 390, 903, 451 341, 952, 035 43,951,416
YEXEBMERESE (3) = (1) — (2) 27,207, 184 12, 686, 629 14, 520, 555
EASHSBIEINGS 0 0 0
SZHF SES S N 9,415 8,989 426
BT ETm2s 0 0 0
BIMEES 5502 0 0 0
T\ IR s e s 5 S 0 0 0
|| %% |samiasrsssings 0 0 0
Bl |EAmETms 0 0 0
z| |ErEETms 0 0 0
= [zofhoy—tEESRE 1,264,077 2,149, 295 -885, 218
#| | —CXEBIMRSEL (4) 1,273,492 2,158, 284 -84, 792
o] LR 6,913, 006 7,230, 097 =317, 091
| [AAESEHEA 0 0 0
Bl | e 0 0 0
| g | 1B AMEE 35 STATIE 0 0 0
0| | BESIHEES AR 0 0 0
ap| " | EARAEE SIS 0 0 0
T AR e 0 0 0
ZOfhDY—E R EENIEE 591,132 528, 362 62, 770
Y- EENSERET (5) 7,504,138 7,758, 459 —254, 321
H-EXEBIMNERZERE (6) = (4) — (5) -6, 230, 646 -5, 600, 175 -630, 471
REEREE (7) = (3) + (6) 20, 976, 538 7,086, 454 13, 890, 084
MRS RE RIS 1,608, 000 0 1,608, 000
MBS R B M B INZS 0 0 0
EEREREASTEEEEM SIS 0 0 0
R Erarsms 0 0 0
| BT aEE 0 0 0
| [P-EARDMBERARINE 0 0 0
o |EQAOEBIRES 341,400 364,172 -22.772
1ERIINZEST (8) 1,949, 400 364, 172 1,585, 228
B |gxemEaE 0 0 0
R | s 0 0 0
0| |ExaEsiE-uss 0 0 0
25| | BBV S SIS S EVERTE (A1) 0 0 0
| EVERREN & AR 2R 8 0 0 0
SEE 0 0 0
Y—EPAXRHEASER 0 0 0
ZOfDHERIIE S 0 75, 881 -75, 881
45RIBEMAE (9) 0 75, 881 =75, 881
TERIERERE (10) = (8) — (9) 1, 949, 400 288, 291 1,661,109
LHSEENERESE (11) = (7) + (10) 22,925,938 7374, 745 15,551, 193
= enneasEEEEEE (12) 266, 913, 497 259, 538, 752 7 374, 745
* [UERBME BN (13) = (11) + (12) 289, 839, 435 266, 913, 497 22,925,938
= [EASEEHE (14) 0 0 0
2 |ZOMOIETTSEIERZE (1 5) 0 0 0
" [ZOMOETTSTETEE (16) 0 0 0
s | REBGHSESNERZEEE (17) = (13) + (14) + (15) — (16) 289, 839, 435 266, 913, 497 22,925,938

11




